

CALCULUL PRIMITIVELOR FOLOSIND METODA INTEGRĂRII PRIN PĂRȚI

Calculați:

1) $\int x \ln x dx$ și $\int \ln x dx$

2) $\int x e^{-x} dx$ și $\int x^2 e^x dx$

3) $\int \frac{\ln x}{x^2} dx$ și $\int x e^{2x} dx$

4) $\int x \arcsin x dx$ și $\int x \arctan x dx$

5) $\int \arccos x dx$ și $\int x \arctan \frac{1}{x} dx$

6) $\int e^x \sin x dx$ și $\int e^x \cos x dx$

7) $\int e^{2x} \sin 3x dx$ și $\int x \sin^2 x dx$

8) $\int x^2 \cdot \ln x dx$ și $\int x^2 \cos 2x dx$

9) $\int x^2 \cdot 5^{3x} dx$ și $\int x \cos 5x dx$

10) $\int \ln(x^2+1) dx$ și $\int \sin(\ln x) dx$

11) $\int x^3 \ln^2 x dx$ și $\int e^x \cos^2 x dx$

12) $\int \frac{x \arctan x}{\sqrt{1+x^2}} dx$ și $\int (x^2+x) e^{3x} dx$

13) $\int x \arctan x^2 dx$ și $\int x e^x \sin x dx$

14) $\int x e^x \cos x dx$ și $\int \frac{x \sin x}{\cos^2 x} dx$

15) $\int \frac{1}{\cos^6 x} dx$ ($\frac{1}{\cos^6 x} = \frac{1}{\cos^4 x} (\tan x)'$) și $\int \frac{dx}{\sin^6 x}$

16) $\int x \sin x \cdot e^x dx$

Calculati: a) $\int x \ln x \, dx$, $x \in (0; \infty)$

b) $\int \ln x \, dx$, $x \in (0; \infty)$

a)

E₁) Integrem prin parti,

$$f(x) = \ln x \Rightarrow f'(x) = \frac{1}{x}$$

$$g'(x) = x \Rightarrow g(x) = \frac{x^2}{2}$$

$$E_2) I = \frac{x^2}{2} \ln x - \int x \cdot \frac{1}{x} dx$$

$$I = \frac{x^2}{2} \ln x - x + C$$

b)

$$E_1) \text{ pt } F(x) = \int \ln x \, dx$$

$$f(x) = \ln x \Rightarrow f'(x) = \frac{1}{x}$$

$$g'(x) = 1 \Rightarrow g(x) = x$$

$$E_2) F(x) = x \ln x - \int \frac{1}{x} \cdot x \, dx$$

$$F(x) = x \ln x - x + C$$

Calcolati: a) $\int \arccos x \, dx$

b) $\int x \arctg \frac{1}{x} \, dx$

a) $I = \int \arccos x \, dx$

$f = \arccos x \Rightarrow f' = -\frac{1}{\sqrt{1-x^2}}$

$g' = 1 \Rightarrow g = x$

$I = x \arccos x + \int \frac{x}{\sqrt{1-x^2}} \, dx$

$I = x \arccos x - \sqrt{1-x^2} + C$

b) $I = \int x \cdot \arctg \frac{1}{x} \, dx$

$f = \arctg \frac{1}{x} \Rightarrow f' = \frac{1}{1+\frac{1}{x^2}} \cdot \left(-\frac{1}{x^2}\right) = \frac{1}{x^2+1} \cdot \left(-\frac{1}{x^2}\right)$

$\Rightarrow f = \arctg \frac{1}{x} \Rightarrow f' = -\frac{1}{x^2+1}$

$g' = x \Rightarrow g = \frac{x^2}{2}$

$I = \frac{x^2}{2} \arctg \frac{1}{x} + \frac{1}{2} \int \frac{x^2}{x^2+1} \, dx$

$I = \frac{x^2}{2} \arctg \frac{1}{x} + \frac{1}{2} \int \frac{x^2+1-1}{x^2+1} \, dx$

$I = \frac{x^2}{2} \arctg \frac{1}{x} + \frac{1}{2} \left(\int 1 \, dx - \int \frac{1}{x^2+1} \, dx \right)$

$I = \frac{x^2}{2} \arctg \frac{1}{x} + \frac{1}{2} \left(x - \frac{1}{1} \arctg \frac{x}{1} \right) + C$

Calcolati: a) $\int e^{2x} \sin 3x dx$

b) $\int x \sin^2 x dx$

a) $I = \int e^{2x} \sin 3x dx$

$f = \sin 3x \rightarrow f' = (\cos 3x) \cdot 3$

$g' = e^{2x} \rightarrow g = \int e^{2x} dx = \frac{e^{2x}}{2}$

$I = \frac{e^{2x}}{2} \sin 3x - \frac{3}{2} \int e^{2x} \cos 3x dx$
 I_1

At I_1 , $f = \cos 3x \rightarrow f' = (-\sin 3x) \cdot 3$

$g' = e^{2x} \rightarrow g = \frac{e^{2x}}{2}$

$I_1 = \frac{e^{2x}}{2} \cos 3x + \frac{3}{2} \int e^{2x} \sin 3x dx$

inlocuind $\Rightarrow I = \frac{e^{2x}}{2} \sin 3x - \frac{3}{2} \left(\frac{e^{2x}}{2} \cos 3x + \frac{3}{2} I \right)$

$I = \frac{e^{2x}}{2} \sin 3x - \frac{3e^{2x}}{4} \cos 3x - \frac{9}{4} I \quad | \cdot 4$

$4I = 2e^{2x} \sin 3x - 3e^{2x} \cos 3x - 9I$

$I = \frac{1}{13} (2e^{2x} \sin 3x - 3e^{2x} \cos 3x) + C$

b) $I = \int x \sin^2 x dx = \int x \cdot \frac{1 - \cos 2x}{2} dx = \frac{1}{2} \left(\int x dx - \int x \cos 2x dx \right)$
 I_1

At I_1 , $f = x \rightarrow f' = 1$

$g' = \cos 2x \rightarrow g = \frac{\sin 2x}{2}$

$\Rightarrow I_1 = x \cdot \frac{\sin 2x}{2} - \frac{1}{2} \int \sin 2x dx$

$\Rightarrow I_1 = x \cdot \frac{\sin 2x}{2} - \frac{1}{2} \cdot \left(-\frac{\cos 2x}{2} \right) + C$

$I = \frac{1}{2} \left(\frac{x^2}{2} - x \cdot \frac{\sin 2x}{2} - \frac{1}{4} \cdot \cos 2x \right) + C$

Calcolati: a) $\int x^2 \ln x \, dx$

b) $\int x^2 \cos 2x \, dx$

a) $E_1) f(x) = \ln x \Rightarrow f'(x) = \frac{1}{x}$

$g'(x) = x^2 \Rightarrow g(x) = \frac{x^3}{3}$

$E_2) I = \frac{x^3}{3} \cdot \ln x - \int \frac{1}{x} \cdot \frac{x^3}{3} \, dx$

$= \frac{x^3}{3} \cdot \ln x - \frac{1}{3} \int x^2 \, dx$

$E_3) I = \frac{x^3}{3} \ln x - \frac{1}{3} \cdot \frac{x^3}{3} + C$

$I = \frac{x^3}{3} \ln x - \frac{x^3}{9} + C$

b) $I = \int x^2 \cos 2x \, dx$

$f(x) = x^2 \Rightarrow f'(x) = 2x$

$g'(x) = \cos 2x \Rightarrow g(x) = \frac{\sin 2x}{2}$

$I = x^2 \cdot \frac{\sin 2x}{2} - \int 2x \cdot \frac{\sin 2x}{2} \, dx = x^2 \cdot \frac{\sin 2x}{2} - \int x \sin 2x \, dx$

$I_1, f(x) = x \Rightarrow f'(x) = 1$

$g'(x) = \sin 2x \Rightarrow g(x) = -\frac{\cos 2x}{2}$

$I_1 = -x \cdot \frac{\cos 2x}{2} + \frac{1}{2} \int \cos 2x \, dx = -x \cdot \frac{\cos 2x}{2} + \frac{1}{2} \cdot \frac{\sin 2x}{2} + C$

$I = x^2 \cdot \frac{\sin 2x}{2} - \left(-x \cdot \frac{\cos 2x}{2} + \frac{\sin 4x}{4} \right) + C = \frac{x^2 \sin 2x}{2} + \frac{x \cos 2x}{2} - \frac{\sin 4x}{4} + C$

Calcolati: a) $\int x^2 \cdot 5^{3x} dx$

(9)

b) $\int x \cos 5x dx$

a) $I = \int x^2 \cdot 5^{3x} dx$

$f = x^2 \Rightarrow f' = 2x$

$g' = 5^{3x} \Rightarrow g = \int 5^{3x} dx = \frac{5^{3x}}{3 \ln 5}$

$I = x^2 \cdot \frac{5^{3x}}{3 \ln 5} - \frac{2}{3 \ln 5} \int x \cdot 5^{3x} dx$

per I_1 , $f = x \Rightarrow f' = 1$

$g' = 5^{3x} \Rightarrow g = \frac{5^{3x}}{3 \ln 5}$

$I_1 = x \cdot \frac{5^{3x}}{3 \ln 5} - \frac{1}{3 \ln 5} \int 5^{3x} dx$

$I_1 = x \cdot \frac{5^{3x}}{3 \ln 5} - \frac{1}{3 \ln 5} \cdot \frac{5^{3x}}{3 \ln 5} + C$

$I = x^2 \cdot \frac{5^{3x}}{3 \ln 5} - \frac{2}{3 \ln 5} \left(x \cdot \frac{5^{3x}}{3 \ln 5} - \frac{5^{3x}}{9 \ln^2 5} \right) + C$

b) $I = \int x \cos 5x dx$

$f(x) = x \Rightarrow f'(x) = 1$

$g'(x) = \cos 5x \Rightarrow g(x) = \frac{\sin 5x}{5}$

$I = \frac{\sin 5x}{5} \cdot x - \frac{1}{5} \int \sin 5x dx$

$I = \frac{1}{5} x \sin 5x + \frac{1}{5} \frac{\cos 5x}{5} + C$

